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INDIAN SCHOOL AL WADI AL KABIR  
Class XI, Mathematics  

Topic: Sets, (M.C.Q & DESCRIPTIVE), 16-04-2020 

Q.1. 𝐴 ∩ 𝐴′ 𝑖𝑠 𝑎 … … …. 

 A Null set B Universal set C Finite set D None of these 

Q.2. Roster form of {𝑥: 𝑥 ∈ 𝑍: 𝑥2 − 3𝑥 + 2 = 0} is: 

 A {−2, 1} B { 1, 2} C {2, −1} D ∅ 

Q.3. 𝑆𝑒𝑡 𝑏𝑢𝑖𝑙𝑑𝑒𝑟 𝑓𝑜𝑟𝑚 𝑜𝑓 {0, 3, 8 , 15} is : 

 
A 

{𝑥: 𝑥 = 3𝑛 − 1, 𝑛 ∈ 𝑁,
𝑛 ≤ 4} 

B 
{𝑥: 𝑥 = 2𝑛 + 1,
𝑛 ∈ 𝑁, 𝑛 ≤ 4} 

C 
{𝑥: 𝑥 = 𝑛2 − 1,
𝑛 ∈ 𝑁, 𝑛 ≤ 4} 

D None of these 

Q.4. 𝐴 = {0, 1}, B = {𝑥: 𝑥 ∈ 𝑁, 𝑥 ≤ 2}, 𝐶 = {𝑥: 𝑥 ∈ 𝑊, 𝑥 < 2}, 𝐷 = {𝑎, 𝑏}, then ….and … are equal sets. 

 A A and C B A and B C B and C D A and D 

Q.5. 𝐴 = {0, 1,2}, B = {𝑥: 𝑥 ∈ 𝑁, 𝑥 ≤ 4}, 𝐶 = {𝑥: 𝑥 ∈ 𝑍, 𝑥 ≤ 2}, 𝐷 = {𝑎, 𝑏, 𝑐}, then ….and … are equivalent sets. 

 A A and C B A and B C B and C D A and D 

Q.6. If 𝐴 ⊂ 𝐵, 𝑤ℎ𝑖𝑐ℎ 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑜𝑝𝑡𝑖𝑜𝑛 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑐𝑜𝑟𝑟𝑒𝑐𝑡? 

 A 𝐴 ∩ 𝐵 = 𝐵 B 𝐴 ∪ 𝐵 = 𝐴 C A − B = ∅ D B − A = ∅ 

Q.7. Two finite sets have m and n elements. The total number of subsets of the first set is 112 more than 

the total number of subsets of the second set.  The values of m and n are: 

 A 7 and 4 B 6 and 3 C 10 and 5 D Can’t find 

Q.8.  −1 < 𝑥 ≤ 5 𝑐𝑎𝑛 𝑤𝑟𝑖𝑡𝑒 𝑎𝑠:                    

 A (-1, 5) B (−1, 5] C [−1, 5] D [−1, 5) 

Q.9. P = {𝑥: |𝑥| = 7, 𝑥 ∈ 𝑁}, Q =  {𝑥: 𝑥 ∈ 𝑁: 𝑥2 + 2𝑥 + 1 = 0}, R =  {𝑥: 𝑥 ∈ 𝑍: 𝑥2 = 9}, then …… is a singleton set. 

 A P B Q C R D None of these 

Q.10   𝐴 =  {𝑥: 𝑥 = 8𝑛 − 7𝑛 − 1, 𝑛 ∈ 𝑁}, 𝐵 = {𝑥; 𝑥 = 49𝑛 − 49, 𝑛 ∈ 𝑁}, 𝑡ℎ𝑒𝑛 ∶ 

 A 𝐴 ⊂ 𝐵 B 𝐵 𝐴 C A = B D 𝐴 ∩ 𝐵 = ∅ 

Q.11 

 
If A= {(𝑥,

1

𝑥
) : 𝑥 ∈ 𝑅 − {0}}  𝑎𝑛𝑑 𝐵 = {(𝑥, −𝑥): 𝑥 ∈ 𝑅}, 𝑡ℎ𝑒𝑛  

 A 𝐴 ∩ 𝐵 = 𝐴 B  
𝐴 ∪ 𝐵 = 𝐴 

C 𝐴 ∩ 𝐵 = 𝐵 D 𝐴 ∩ 𝐵 = ∅ 
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Q12. If n(U) = 700, n(A) = 200, n(B) = 300 and n(A∩ 𝐵) = 100, 𝑡ℎ𝑒𝑛 n(A′ ∩ 𝐵′) 𝑖𝑠 ……………. 

Q13. In a group of 400 people, 250 can speak Hindi and 200 can speak English, then the number of people 

can speak both Hindi and English is …………. 

Q14. If n(U) = 2000, n(A) = 1720 and n(B) = 1450, then the least number of n(A∩ 𝐵) 𝑖𝑠 … … ……… 

Q15. If A= {a, b, c}, then the number of proper subsets of A is ………….. 

Q16. If n(A∪ 𝐵) = 25, 𝑛(𝐴) = 12, 𝑛( 𝐴 − 𝐵) = 8, 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑒𝑙𝑒𝑚𝑒𝑛𝑡𝑠 𝑖𝑛 𝐴 ∩ 𝐵 𝑖𝑠 … ………. 

Q17.  Write in set-builder form:  

i)A= {2, 3, 5, 7, 11, 13}                           ii) B = {3, 10, 29, 66, 127} 

          iii)C= {1, 4, 9, 16, … },                                  iv) D = {
1

2
,

2

3
,

3

4
,

4

5
,

5

6
, … }                        

Q18. Describe the following set in roster form: 

{x: x is a letter in the word PROPORTION} 

Q19.  Let T = {x: 
𝑥+5

𝑥−7
  - 5 = 

4𝑥−40

13−𝑥
 }, is T a singleton set? Justify your answer.  

Q20. Write the following as interval and also represent it on a number line. 

i) {x: x ∈ 𝑅, -5 ≤ x < 6} 

Q21. Let A = {3, 4, 5} then find the Power set of set A. 

Q22. Two finite sets have m and n elements. The total number of subsets of the first set is 192more than the 

total number of subsets of the second set. Find the value of m and n.   

Q23. Let U = {1, 2, 3, 4, 5, 6}, A= {2, 3}, B= {3, 4, 5} Find A′ ∩ 𝐵′ , A∪ 𝐵 and hence show that  

(A∪ 𝐵)′= A′ ∩ 𝐵′ 

Q24. If A= {x: x∈ 𝑁, 𝑥 ≤ 7}, B = {x: x is a prime , 𝑥 < 8} and C = {x: x∈ 𝑁, 𝑥 𝑖𝑠 𝑜𝑑𝑑 𝑎𝑛𝑑 𝑥 < 10},  

Verify that i) A∪ (𝐵 ∩ 𝐶) = (A∪ 𝐵) ∩ (𝐴 ∪ 𝐶)     ii) A∩ (𝐵 ∪ 𝐶) = (𝐴 ∪ 𝐵) ∪ (𝐴 ∩ 𝐶)  

Q25. Draw appropriate Venn diagram for each of the following; 

i)(A∪ 𝐵)′                        ii)A′ ∩ 𝐵′                         iii) (A∩ 𝐵)′               iv) 𝐴′ ∪ 𝐵′ 

Q26. There are 45 students in Biology class and 65 students in Computer Science class. Find the number of 

students which are either in Biology or in Computer class in the following cases. 

ii) The two classes meet at the same hour 

iii) The two classes meet at different hours and 30 students are enrolled in both the subjects. 

Q27. Given: For two finite sets A and B, n(A-B) = 12+x, n(B – A) = 3x and n(A∩ 𝐵)= x+1. If n(A) = n(B), 

find the value of x and hence n(A). 

Q28. Out of 100 boys in a club, 65likes to play cricket, 40like to play Tennis, 55likes to play volleyball, 25 

likes to play both cricket and Tennis, 24 likes to play both Tennis and Volleyball, 22 likes to play 

Volleyball and cricket. All of them like to play at least one of the games. How many boys play  

i)  All the three games  

ii)  Cricket only  

iii)  Tennis only.                                                                                                  
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Q29. In a survey of 60 people, it was found that 25 people read newspaper H, 26 read newspaper T, 26 read 

newspaper Z, 9 read both H & Z, 11 read both H & T, 8 read both T & Z, 3 read all three newspapers. 

Find 

i) The number of people who read at least one of the newspapers. 

ii) The number of people who read exactly one newspaper 

Q30. In a class of 140 students, 60 play football, 68 play hockey and 75 play cricket, 30 play hockey and 

cricket, 18 play football and cricket, 42 play football and hockey and 8 play all the three games. Use 

Venn diagram to find number of students:  

i) who do not play any of the three games. 

ii) who play only cricket  

iii) who play exactly two of the games.                                                               

  

 

 

        

        

        

        

        

        

        

        

 

 

 

 

 

 

 

 

 

 

 

 

 

 


